Problem/number 0) r Lo/ af— _Inco_rr_ple-te N
1issin -1 i dentification

‘e L =260 um P= =10 &= /2 A=
Incomplete problem statement. = i
/' = ::\9_( 2 Va ‘\

No|clear beginhing |\ - ki \
of solution =1\ - 1. 0
\ Q810 " Precede decimal

77, \ 1+ A point with a digit
/W \
Wil VAP 4 = 4 gxiom ] N N I
(/// N sl /C?\‘N'ITTI k-
fF L | | d = 804018 xU0 ) k. M. G,
(VAY/ /, ~——"1if 51 units use
¥ 4V 00 agcurate

r / =1
JL////M No-explanation s

1
o Ul WUIK
‘ Messy or irrelevent, |,

work ( Inal answer? +1

No explanatory

2)
N—r
N

figure(

L 2 [
Hogital

e

evetopment

b
g" [
@ <
&
1
N

!

Note:/ correct answer, but no credit!




